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Q1. In the following question, two statements are given each followed by two conclusions I and II.
You have to consider the statements to be true even if they seem to be at variance from commonly
known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

= R o vt & 3 e Ry au § ReE A9 1 s 1 3 R R o € sy R3 1w wae # i e
HATAAT § WA g1 4 GaaTq asai & P T giar 2. sraahl et AT g it i |71 Ay 3 g o= i
SLEIT AT §

Statements:/®99T

(I) Some scooters are trucks./ & e & &

(I1) All trucks are trains./ 9T T 29 &

Conclusion:/fAss

(I) Some scooters are trains./ $ ¥hel e

(I) No truck is a scooter./ &5 AT =& Fhel TRl 8

(a) Conclusion I follows/fAT=T | SHIOT KAl g

(b) Conclusion II follows/ AT 11 SHIOT KAl g

(c) Neither I nor II follows/ T T I T & 11 TTHLT Fd &

(d) Both I and II follows/ T [ S¥ 11 SIE0T F¥d &

Direction (2-3): A series is given with one term missing. Choose the correct alternative from the
given ones that will complete the series.
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Q4. If yesterday was Tuesday, then what day of the week will the tenth day from today be?
i F AT 9T, AV A & THA T TETG F7 *iw A7 1 grre

(a) Friday/9r#am<

(b) Sunday/TfaaTT

(c) Monday/HTHaTT

(d) Saturday/etRaT®

Q5. Arrange the given words in the sequence in which they occur in the dictionary.
T T 1T FT AT F ATHI AGRAT oA

i. Collaborate

ii. Constant

iii. Correspondence

iv. Combination

(a) iv, ii, i, iii

(b) iii, ii, iv, i

() v, iii, i, ii

Q6. In a certain code language, 'TAPERECORDER' is written as "'#&@"@?%"+@"'. How is
'REPORT"' written in that code language?

T+ fAfara e Wt §, 'TAPERECORDER' 1 '1#&@" @7%" +@"' for@T 1A 8. T9 F STT § 'REPORT' Y
e wee o StToe?

(a) "@&" %!

(b) "@&%!

(c) "@&%"!

(d) "@%&"!

Q7. In the following question, select the missing number from the given series.

9 RU T T § F0q 9= T hioa?
13 | 169 | 961

15?2 | 2601

12 | 144 | 441

(a) 81

(b) 361

(c) 289

(d) 225

Q8. If "*" denotes "added to", "&" denotes "divided by", "@" denotes "multiplied by" and "%"
denotes "subtracted from", then 153 & 17 @6 % 9*18 =7?

AfR " ST " Y, & AT R, @ T A SR 0" " " Ay R AT, 153817 @ 6% 9 * 18
=?

(a) 63

(b) 98

(c)93

(d) 10
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Q9. In the following question, which one set of letters when sequentially placed at the gaps in the
given letter series shall complete it?

= fa g et &, it 1 A 97 gg A & T sEer S IR S

d_fde__deee_

(a) eeff

(b) cdef

(c) ddee

(d) deee

Q10. A man travels 25 km towards the west and then turns 90° to his left and travels another 4
km. Finally, he turns left and covers 25 km. In which direction is he now from his original
position?

T e qfer e it & 255 =erar § {6 90° e arff < q=ar § o7 sy 4% Sear 8. s 9w
T4 q=aT § oK 256, =T &, a8 st s Rt a P Rard @2

(a) West/afzra

(b) East/ga

(c) South/aferor

(d) North/3TX

Direction (11-13): Use the following passage for the questions based on it.

R T et T ST I F T T=Tr T ST H

Rahul and Kusum are good in Hindi and Maths. Sameer and Rahul are good in Hindi and Biology. Gita and
Kusum are good in Marathi and Maths. Sameer, Gita and Mihir are good in History and Biology.

g ST FHA f2ar e g # =g 21 99T T Trger fBat o St fasme # sr=e ) i =i $qw 72t
S Tiora W sl g1 /i, Mar o i sfaem siw sta oeme # o= 2

Q11. Who is good in both Biology and Marathi?
shra fastTe i 9t Q1 | 1 sr=a1 62

(a) Gita/Afrar

(b) Kusum/£9®

(c) Sameer/THI¥

(d) Mihir/ffEx

Q12. Who is good in only Hindi, Marathi and Maths? RRB NTPC STAG E-l
Faer T, et sie o & =i s &7

(a) Sameer/THIT

(b) Rahul/Trget / ;
(¢) Kusum/&aa Online Test Series

(d) Gita/ifrar

25 Previous Year Papers
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Q13. Who is good in Maths, Biology and Hindi?
wiore, s fasT o B0 & # s=ar 827

(a) Gita/sfar

(b) Rahul/Trget

(c) Sameer/THIT

(d) Mihir/ff2

Q14. Introducing a girl, a man says, "She is the daughter of the daughter of my wife". How is man
related to the girl?

T AShT T TRAT Id G, T AGHT FHgdT &, "ag AL Tell T ST T ST 5| SATHT AShT & ¥ G fad 872
(a) Maternal uncle/qTHT

(b) Son/sT

(c) Maternal grandfather /ATAT

(d) Father/faaT

Q15. If a mirror is placed on the line MN, then which of the answer figures is the right image of the
given figure?

7% T@T MN 9= T 97 7@t ST, 7 RaforfRe & & o a7 s B gt & o s gefe

M

(a)

Res

(b)

E>%

(c)

TN

(d)

B
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Q16. Identify the diagram that best represents the relationship among the given classes.
S AT Tl TZATH Sl U T F91 & S Gl T GO 5370 A A 8d FLam gl
Olympic games, Tennis, Wrestling, Ludo

et &, 2, ey, o

(a)
o

00O
OO

d)

o
Q17. A piece of paper is folded and punched as shown below in the question figures. From the
given answer figures, indicate how it will appear when opened.

TH FR & g0 Bl AIS F 99 7m0 star & 1= <eriar @ g, = R w3 B & s St & e
ST 9X 9 g 1< T fee.

(| | A
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Q18. Given below is a statement followed by some conclusions. You have to take the given
statement to be true even if it seems to be at variance with the commonly known facts and then
decide which of the given conclusions logically follow(s) from the given statement.

= R 1 w1 H, I e R 1w g s A= 3 Ao 167 1 Qg 1w 8. sret fw 7@ et &0 9eq /reem
& W g F waATa a=dl & e weita gia &t e s fReiiRa wwr § & aft Re @ fFeest § § & ar
T T FAT T SATECT AT &,

Statement:/ FI:

Hrithik, in spite of his busy schedule, finds time to rest./ AT STET FTAFH F CIES S o 1 s A

=T qHF At S7aT B
Conclusions:/fAswe

Hrithik is an organized person./ Ffd U TS =T<F 8
Rest is the most important thing for a busy person./ & <k & [T ATH TIH HgA \J\UT =T g

Decide the right option from below.

H= few 1T foeq § @ 95T fAwew

(a) Only conclusion I follows/Fae fAeRT | LT AT g

(b) Only conclusion II follows/Fae AT 11 ST FLAT

(c) Both I and II follow/ Hst [ i< 11 AHIOT AT g

(d) Neither of them follows/ ZIFT H & Tl W LT Aal HAT g

Q19. Given below is a statement followed by some conclusions. You have to take the given
statement to be true even if it seems to be at variance with the commonly known facts and then
decide which of the given conclusions logically follow(s) from the given statement.

= & Fua g7 w7 § s a1 = A fog 1w €)1 sroer iR 1@ w9 S 9 /AT §, 9 g 98
AT €T & ATT T & a1 fF=or F3ar gy 3w 6 Ru 1 wu & F «iw ar fAeed arfds &7 & srqar
FLAT &, TG TT B

Statement:/®:

All hard-working people are successful./ T Tf=THT TR % B 2

Conclusions:/fAeHy:

All successful people are hard-working./ 9T T sI1<F FET HgAd FHed aTl gid &

Only hard work can guarantee success in life./ 3 FET HgAd &l S{aT § THAAT 0l Tl & Tl §
Decide the right option from below.

A= fag g fAwer § @ 9@t fase 9

(a) Only conclusion I follows/xae fHeFT [ FTEI FXAT 5

(b) Only conclusion II follows/Fae feHT 11 LT FLAT &

(c) Both I and II follow/ et [ i< 11 SITETT AT &

(d) Neither of them follows/ ZIFT H & Tl HT THALT Aal HAT g
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Q20. If ‘+’ means x, ‘-’ means +, ‘x’ means + and ‘+’ means - ; compute the value of the expression:
Tfe ‘4 @ el ‘x, - T e 7 g, xR T ol 4 SRR+ T oref - 8 arfrsrRe F e it T i
45-9+4x5

(a) 21

(b) 25

(c) 26

(d) 23

Q21. In the following question, two statements are given each followed by two conclusions I and II.
You have to consider the statements to be true even if they seem to be at variance from commonly
known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

= Ru w1 ¥, T Fa= Ry e § B = @ fAeed 1807 1 R e . srosr e 1o v & o |/
g Ao & T gawTq a=At ¥ o wdfia 2 & R sraet fReifa war & & afs R et § @ s an
T 1T FUET T ATEOT FAT ©.

Statement: /F:

() All radios are electric goods./ Tt T=24T farsteft & ATH &

(I1) All tablelamps are electric goods./ Tt Zaer A9 fasTett & ATH %’

Conclusions: /fAsHd:

(I) Some radios are tablelamps./ iﬁﬁ%ﬁ?ﬁ TIT AT %’

(II) Some table lamps are radios./ $= TIA AT I=AT 8

(a) Conclusion I follows /feFT [ SITET FLAT &

(b) Conclusion II follows/ feFt 1 [ SITETT F2AT &

(c) Neither I nor II follows/ 7 @T I 3fIT T &I 11 HI FLAT &

(d) Both I and II follows/ I 3i¥ 11 AT SHT F3d &

Direction (22-23): A series is given with one term missing. Choose the correct alternative from the
given ones that will complete the series.

T H@aT & T2 g s T = 9977 § gt [ 1w fasweat § & 3§ e 7 =99 F347 § S 39 S@«t Hf
T HAMM?

Q22. MNP, STV, YZB,?

(a) GHJ RRB NTPC 2019
(b) JKM PRIME PACKAGE

(c) EFH

(d) CDB 100 + TOTAL TESTS
40 Full Length Mocks
23. AN, CP,ER,? . i
&) LY 30 Section Wise Tests
10 Previous Years papers
(b) W) 0us
() VI 20 +Topic Wise tests
(d) GT eBooks
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Q24. If 1st January 2013 was Tuesday, then what day of the week will be 31st December 2013?
i 1 Tt 2013 TTAER 9T, T 31 & 2013 it 618 F A 97 ey grm?
(a) Wednesday /g494TX

(b) Thursday/f[&aTX
(c) Tuesday / HITETT
(d) Monday/a¥aT<

Q25. Arrange the given words in the sequence in which they occur in the dictionary.
T 1T o1 FY ASTAAT F ATHAT AT Hifor

i. Fabric

ii. Face

iii. Failure

iv. Faculty

(a) iv, ii, i, iii

(b) iii, iv, ii, i

(c) iv, iii, i, ii

(d) i, ii, iv, iii

Q26. In a certain code language, "VENUS" is written as "TVOFW". How is "FAMILY" written in that
code language?

et RS Fe wiwT #, "VENUS" 7 "TVOFW" ¥ &7 | for@t Srar §. S f€ W19t # "FAMILY" 369 T
ferar stram?

(a) ZMJNBG

(b) GBNJMZ

(c) EZLQKX

(d) XKHLZQ

Q27.In the following question, select the missing number from the given series.
Rafafad v 4, & 12 gaar & 7 G671 F7 997 H

7 |3 |336
11 |2 | 110
8 |3 |7
(a) 472

(b) 514

(c) 504

(d) 482

Q28. If "A" denotes "added to", "C" denotes "divided by", "D" denotes "multiplied by" and "B"
denotes "subtracted from",then 72C9D2B6A10=?

af A" FT oef “sveT AT &, "¢ A ok & B, "D T e o oA "B A ok e & 31 72 C9D
2B6A10=7

(a) 30

(b) 20

(c) 35

(d) 40
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Q29. Which set of letters when sequentially placed at the gaps in the given letter series shall
complete it?

_AB_PQ AB_P_ ' il
2 T e F@AT § GIAT T I T F (36 qg A FAATK @A “THE CRACKER”
A T BT GENERAL AWARENESS
ABPQAB.P- SB00w ST e
(a) QQCPR Useful for RRB JE, RRB NTPC,
(b) RPQCQ P
(c) QRCRC ;

(d) CRCRQ

Q30. Starting from his home, a boy rides on his bike for 8 km

Based an Latest Pattern
towards west, takes a left turn and travels 10 km more. From ooy g S

there, he turns 180° in the clockwise direction and travels e A

another 16 km. Finally, he takes a right turn and travels 8 km
more. How far and in what direction is he now from his original
position?

Y T S FIHT, TF FSHT IR ¥ ¢ 8 Faweft e s7oefi sreeh o= Sram &, 9 qeav & i 10 B sfas
ITAT FAT gl T&T F, T8 180 ° AT Fit X it 3o F F=ar § T 16 5+t i 7= F°za g1 37 §, 78 <0¢ FqEar
& ik 8 fanet srfersr AT=m FaT 81 a8 U o 2T &/ A fahaet gT o7 fry fRem & 82

(a) 6 km, North /6 THT, 37T

(b) 10 km, South /10 T, feror

(c) 12 km, West /12 T, afer

(d) 6 km, East/6 T, 7@

[ B
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